T AR MEE [fibrelliter] T ARR NERE [fibrelliter] T ARZR MEE [fibrelliter] T ARZR MRE [fibreliter]

T AR MRE [fibre/liter]

w @ Q
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CASE—8 [1H]
(ASTREUE: ABEMMIX5~X7 /

B : ik 1.9m/s) \3

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

e monitor-o1-1

8. 89 XE—09

T ARZR MRE [fibre/liter]

600

1800 2400 3000
BERET [s]

e monitor-o1-5

1. 29XE—06

TARR MEE [fibrefliter]

600

1800 2400 3000
BERET [s]

e monitor-p1-1

3. 58XE—10

T AR MRE [fibrelliter]

600

1800 2400 3000
BERET [s]

= monitor-p1-5

1. 21 XE—08

T ARR MRE [fibrelliter]

600

1800 2400 3000
BER [s]

= monitor-p1-9

1. 51 XE—06

T7ARR MRE [fibrelliter]

600

1800 2400 3000
BERE [s]

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

e monitor-o1-2

1. 21 XE—08

T AR MRE [fibre/liter]

1800 2400 3000
BEfE [s]

e monitor-o1-6

3. 17 XE—07

T AR MEE [fibre/liter]

1800 2400 3000
BER [s]

e monitor-p1-2

3. 27 XE—09

T AR MEE [fibrelliter]

1800 2400 3000
BER [s]

= monitor-p1-6

1. 48 XE—08

T AR MRE [fibrelliter]

1800 2400 3000
BERE [s]

= monitor-p1-10

1. 98 XE—06

T ANR MRE [fibre/liter]

1800 2400 3000
BEfE [s]

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

(XL

P AN M EEYIERE

0.10
e monitor-01-3 = 0.08
2.31xE—08 | =
S 0.06
1
% 0.04
X
< 002
P\
0.00
1200 1800 2400 3000 3600
=] [S]
0.10
= monitor-o1-7 = 0.08
2. 85XE—07 | =
S 0.06
i
® 0.04
X
< 002
P\
0.00
1200 1800 2400 3000 3600
BERE [s]
0.10
e monitor-p1-3 = 008
6. 26XE—09 | =
S 0.06
i
% 0.04
X
¢ 002
~
0.00
1200 1800 2400 3000 3600
B [s]
0.10
= monitor-p1-7 = 0.08
1.96XE—08 | =
S 0.06
1
% 0.04
X
¢ 0.02
P\
0.00
1200 1800 2400 3000 3600
B [S]
0.10
= monitor-p1-11 = 0.08
2. 63XE—06 | =
S 0.06
i
% 0.04
X
¢ 0.02
P\
0.00

1200

1800 2400 3000

BERE [s]

HE=E

3600

\

\ e monitor-o1-4

[ 8. 40xXE—08

1200 1800 2400 3000

BRI [s]

e monitor-o1-8

[ 4. 87 XE—06

1200 1800 2400 3000

BER [s]

= monitor-p1-4

| 9.84XE—09

1200 1800 2400 3000

BERET [s]

= monitor-p1-8

| 3.60xE—07

1200 1800 2400 3000

BERE [s]

= monitor-p1-12

[ 4. 38XE—06

1200 1800 2400 3000
BEfE [s]
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T ARR NREE [fibre/liter] T AR MERE [fibre/liter] T AR MRE [fibrelliter] T AR MRE [fibrelliter] T AR NERE [fibreliter]

T ARR MRE [fibrefliter]

CASE—8 [2p%)

(ASTRELR : 4BEAEIXS~X7 /

3600

3600

3600

3600

3600

0.10
0.08 e monitor-o2-1
[ 9. 96 XE—08 ]
0.06
0.04
0.02
0.00
0 600 1200 1800 2400 3000
BRI [s]
0.10
0.08 = monitor-02-5
[ 4. 95 XE—07 ]
0.06
0.04
0.02
0.00
0 600 1200 1800 2400 3000
B [s]
0.10
0.08 e monitor-02-9
| 9.95xE-05 |
0.06
0.04
0.02
0.00
0 600 1200 1800 2400 3000
BERT [s]
0.10
0.08 = monitor-p2-1
[ 8. 66 XE—08 ]
0.06
0.04
0.02
0.00
0 600 1200 1800 2400 3000
B [s]
0.10
0.08 = monitor-p2-5
[ 2 44XE—06 ]
0.06
0.04
0.02
0.00
0 600 1200 1800 2400 3000
BEfE [s]
0.10
0.08 = monitor-p2-9
[ 2 09 XE—04 ]
0.06
0.04
0.02
0.00
0 600 1200 1800 2400 3000
B [s]

3600
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T ARR MEE [fibrefliter]

TARR MEE [fibrefliter]

T AAR ~RE [fibrelliter] T AAR MRE [fibrelliter]

TARR MEE [fibrefliter]

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

B : ik 1.9m/s) \3

P AN M EETIERE

(XL

\

\ e monitor-o2-4

| 2.08xE-07 |

600 1200 1800

BRI [s]

2400 3000 3600

= monitor-o2-8

[ 4. 98 XE—05 ]

600 1200 1800

BERET [s]

2400 3000 3600

= monitor-p2-4

| 3.28xE—07 |

600 1200 1800

BERE [s]

2400 3000 3600

= monitor-p2-8

[ 5. 71 XE—05 ]

600 1200 1800

BERE [s]

2400 3000 3600

= monitor-p2-12

| 1.55xE—03 |

0.10 0.10
e monitor-02-2 = 0.08 e monitor-02-3 = 0.08
[ 5. 49XE—08 ] 3 [ 1. 29 %XE—07 ] 3
g 0.06 g 0.06
i i
% 0.04 % 004
% %
x 0.02 x 0.02
P~ [
0.00 0.00
600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
BFfE [s] BRI [s]
0.10 0.10
e monitor-02-6 = 0.08 e monitor-02-7 = 0.08
| 1.75xE—06 | z | 4.20xE-06 | =
g 0.06 g 0.06
i isd
™ 004 i 004
< <
x 0.02 x 0.02
[ [
0.00 0.00
600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
BERE [s] BER [s]
0.10 0.10
= monitor-p2-2 = 0.08 = monitor-p2-3 = 0.08
| 1.87xE-07 | = | 1.67xE-07 | =
= 0.06 £ 0.06
1 isd
% 004 7 004
< <
x 0.02 x 0.02
[ [
0.00 0.00
600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
BER [s] BER [s]
0.10 0.10
= monitor-p2-6 = 0.08 = monitor-p2-7 = 0.08
| 6.82xE—06 | = | 1.89xE—05 | =
£ 0.06 2, 0.06
1 it
% 0.04 % 004
X r<<
r<< 0.02 x 0.02
[ [
0.00 0.00
600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
BFR [s] B [s]
0.10 0.10
e monitor-p2-10 = 0.08 e monitor-p2-11 = 0.08
[ 2. 73XE—04 ] 3 [ 5. 25 XE—04 ] 3
g 0.06 g 0.06
i i
14 4
7 0.04 7 0.04
< B
x 0.02 ,.<< 0.02
[ [
0.00 0.00
600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
B [s] BFfE [s]
4 23 9 21 20 19 18
| [ I
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FAAR NERE [fibrelliter] T AR MEE [fibrelliter] T ARR MRE [fibrelliter] T ARR MRE [fibrelliter] T AR MRE [fibrelliter]

T ARRX MRE [fibre/liter]

CASE—8 [3p&)

(ASTRELR : 4BEAEIXS~X7 /

3600

3600

3600

3600

3600

0.10
0.08 e monitor-03-1
[ 7. 30XE—06 ]
0.06
0.04
0.02
0.00
0 600 1200 1800 2400 3000
BRI [s]
0.10
0.08 = monitor-o3-5
[ 2. 48 XE—05 ]
0.06
0.04
0.02
0.00
0 600 1200 1800 2400 3000
BERE [s]
0.10
0.08 e monitor-o3-9
[ 2. 49 xXE—04 ]
0.06
0.04
0.02
0.00
0 600 1200 1800 2400 3000
BER [s]
0.10
0.08 = monitor-p3-1
[ 2. 97 XE—06 ]
0.06
0.04
0.02
0.00
0 600 1200 1800 2400 3000
BER [s]
0.10
0.08 = monitor-p3-5
[ 8. 80 XE—05 ]
0.06
0.04
0.02
0.00
0 600 1200 1800 2400 3000
BFRE [s]
0.10
0.08 = monitor-p3-9
[ 1. 06 XE—03 ]
0.06
0.04
0.02
0 600 1200 1800 2400 3000
B [s]

EARR

]

[,

3600

T ARZR MRE [fibre/liter]

T ARX MRE [fibrelliter]

TARR MRE [fibrelliter] TARZR MRE [fibrelliter]

T ARR MEE [fibrefliter]

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

B : ik 1.9m/s) \3

e monitor-o3-2

| 2.51xE—06

600 1200 1800
BFfE [s]

2400 3000

3600

e monitor-o3-6

| 4.05xE—05

600 1200 1800
BERET [s]

2400 3000

3600

= monitor-p3-2

| 9.10xE—06

600 1200 1800
BERE [s]

2400 3000

3600

= monitor-p3-6

| 1.16xE—04

600 1200 1800
BERE [s]

2400 3000

3600

e monitor-p3-10

[ 1 28 XxE—03

]

HE

-

N
600 1200 1800 2400 3000
BERE [s]

3600

T ARRX MEE [fibrelliter]

T AR MEE [fibre/liter]

T ARR MRE [fibrelliter] T ARZR MRE [fibrelliter]

T AR MEE [fibre/liter]

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.10

0.08

0.06

0.04

0.02

0.00

P AN M EEYIERE

X/

0.10
e monitor-03-3 w 0.08
| 7.05xE—06 | =
S 0.06
1
% 0.04
X
& 0.02
P\
0.00
600 1200 1800 2400 3000 3600
B [s]
0.10
e monitor-03-7 = 0.08
| 6.52xE—05 | =
S 0.06
1
® 0.04
X
§ 0.02
P\
0.00
600 1200 1800 2400 3000 3600
BERE [s]
0.10
e monitor-p3-3 = 0.08
[ 1. 14XE—05 ] =
S 0.06
1
% 004
X
& 0.02
P\
0.00
600 1200 1800 2400 3000 3600
BEfE [s]
0.10
= monitor-p3-7 T 0.08
| 1.99xE-04 =
S 006
1
% 0.04
X
& 0.02
P\
0.00
600 1200 1800 2400 3000 3600
BefE [s]
0.10
e monitor-p3-11 = 0.08
| 1.98xE—03 | =
S 0.06
1
% 0.04
X
§ 0.02
P\
S — 0.00
600 1200 1800 2400 3000 3600
BFfE [s]

\

\ e monitor-03-4

| 7.97xE—06

600 1200 1800
BEfE [s]

2400 3000

3600

e monitor-o3-8

[ 1. 1T0XE—04

600 1200 1800
BER [s]

2400 3000

3600

= monitor-p3-4

[ 2. 49 XE—05

600 1200 1800
BERE [s]

2400 3000

3600

e monitor-p3-8

| 3.32xE—04

600 1200 1800
BRI [s]

2400 3000

3600

e monitor-p3-12

| 4.43xE—03

S~

600 1200 1800
BERE [s]

2400 3000

3600




CASE—8 [4p%)

(ASTREUE :4BERBERIX5~X7 / EE:#ILFHE1.9m/s) \3 PRANZ 1 BRI
(&L \

0.10 0.10 0.10 0.10
— e monitor-o4-1 — = monitor-o4-2 — = monitor-o4-3 — \ = monitor-o4-4
5 0.08 5 0.08 5 0.08 B 0.08
3 [ 1. 74 XE—06 ] 3 [ 6. 92 XE—07 ] 3 [ 1. 89 XE—06 ] 3 [ 2. 35 XE—06 ]
g 0.06 é 0.06 g 0.06 g 0.06
™ 0.04 ™ 0.04 " 0.04 " 0.04
X X X ¢
|§ 0.02 pfi 0.02 [é 0.02 p% 0.02
0.00 0.00 0.00 0.00
0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
BFRE [s] BERE [s] BRI [s] BRI [s]
0.10 0.10 0.10 1.00
— = monitor-o4-5 — = monitor-o4-6 — e monitor-o4-7 — e monitor-o4-8
5 0.08 5 0.08 5 0.08 5 0.80
= | 5.63xE—06 | = | 1.09xE-05 | = | 2.88xE—05 | = /\ | 38.57xE—01 |
g 0.06 g 0.06 g 0.06 E 0.60 ’
™ 004 " 004 " 004 % 040 \
X X X X
& 0.02 pl% 0.02 § 0.02 p% 0.20 \
0.00 0.00 0.00 0.00
0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
B [s] B [s] BFfE [s] B [s]
10.00
— 800 = monitor-o4-9
5 8.
3 8. 21 XE—01
g 6.00
i
™ 400
<
X 2.00
N
0.00
0 600 1200 1800 2400 3000 3600
BER [s]
0.10 0.10 0.10 0.10
— = monitor-p4-1 —_ = monitor-p4-2 —_ = monitor-p4-3 —_ = monitor-p4-4
5 0.08 5 0.08 5 0.08 5 0.08
= | 4.87xE-07 | = | 2.23xE-06 | = | 2.89xE-06 | = | 5.82xE—06 |
é 0.06 g 0.06 g 0.06 g 0.06
[
“> 0.04 s 0.04 s 0.04 “> 0.04
X X X X
p% 0.02 é 0.02 p% 0.02 p% 0.02
0.00 0.00 0.00 0.00
0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
BEfE [s] BEfE [s] BEfE [s] BEfE [s]
0.10 0.10 0.10 0.10
—_ = monitor-p4-5 —_ = monitor-p4-6 —_ = monitor-p4-7 —_ = monitor-p4-8
5 0.08 5 0.08 [ 0.08 5 0.08
3 [ 2. 25 XE—05 ] 3 [ 3. 31 XE—05 ] 3 [ 6. 74 XE—05 ] 3 [ 1. 56 XE—04 ]
g 0.06 g 0.06 g 0.06 é 0.06
" 004 ™ 004 % 004 % 004
X X X X
pfi 0.02 pfi 0.02 [é 0.02 [é 0.02
0.00 0.00 0.00 0.00
0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
BFRE [s] BERE [s] BERE [s] BRI [s]
0.10 0.10 0.10 1.00
= 0.08 = monitor-p4-9 = 0.08 = monitor-p4-10 = 0.08 e monitor-p4-11 = 0.80 = monitor-p4-12
3 [ 6. 72XE—04 ] 3 [ 6. 49 XE—03 ] 3 [ 1. 75 XE—02 ] 3 [ 3. 63XE—02 ]
g 0.06 g 0.06 g 0.06 g 0.60
" 004 " 004 " 004 ™ 040
X X X X
< 0.02 < 0.02 $ 0.02 [ < 0.20
: »~ S — A
0.00 0.00 — 0.00 0.00 —
0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600 0 600 1200 1800 2400 3000 3600
B [s] BFfE [s] BFfE [s] B [s]
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